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Prosent av tall (manglende tall)

StudentName:

x70% = 64.4
x 80% = 15.2
x 30% = 12.6
x 60% = 39
x 80% = 64.8
x 50% = 16
x 80% = 56
x50% = 1.5
x10% =153
% 90% = 60.3
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ExamDate:

x 40% = 25.6
x 10% = 5.7
x 80% = 23.2
x 50% = 7.5
x 50% =44

x 40% = 22.8
% 90% = 78.3
x 40% = 39.6
x 90% = 49.5
x40% =6

ExamScore:
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Dc,, =0C Q

Prosent av tall (manglende tall)

StudentName:

92 x70% = 64.4

19 x 80% = 15.2

42 x30% = 12.6

65 x 60% = 39

81 x 80% = 64.8

32 x50% = 16

70 x 80% = 56

3x50%=1.5

53 x10% =35.3

67 x 90% = 60.3

ExamDate: ExamScore:

64 x 40% = 25.6

57 x10% = 5.7

29 x 80% = 23.2

15 % 50% = 7.5

88 x 50% = 44

57 x40% = 22.8

87 x90% = 78.3

99 x 40% = 39.6

55 x90% = 49.5

15x40% = 6
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